
CSE P561: Network Systems 

Homework #1 

Due: Start of class, week 4 

 
 

!" #$%&'())*%+,%-,$./0$,1%.2(.%.2,%3,&,/4,1%50+,3%',4,'%/$%3(1/0%

.3($)-/))/0$%/)%06.,$%530503./0$('%.0%178*%1%.2,%1/).($&,%.0%.2,%),$1,3*%

($1%8%9:%;<*%+/.2%8%(%)-(''%4('=,%()%(%6=$&./0$%06%.2,%,$4/30$-,$."%%>)/$?%

@2($$0$A)%.2,03,-*%+3/.,%(%603-='(%B0=$1/$?%.2,%1(.(%3(.,%()%(%6=$&./0$%

06%8%($1%1"%

%

<" %CD5'(/$%+2E%.2,%5(&8,.%,3303%3(.,%630-%(%),$1,3%.0%(%3,&,/4,3%-(E%$0.%B,%

.2,%)(-,%()%/$%.2,%0550)/.,%1/3,&./0$"%

%

F" G(33/,3%),$),%&($%53,4,$.%0$,%),$1%630-%.3(-5'/$?%0$%.05%06%($0.2,3*%B=.%

/.%/)%/-53,&/),%B,&(=),%.2,%50+,3%',4,'%/)%),$),1%(.%.2,%),$1,3*%B=.%.2,%

/$.,36,3,$&,%2(55,$)%(.%.2,%3,&,/4,3"%%%%H$,%+(E%.0%(113,))%.2/)%+0='1%B,%

603%(%),$1,3%.0%'/).,$%.0%.2,%)0=3&,%($1%1,)./$(./0$%06%5(&8,.)%()%.2,E%(3,%

.3($)-/..,1*%($1%0$'E%),$1%(%$,+%5(&8,.%/6%/.%+0='1$A.%/$.,36,3,%+/.2%.2,%

&0$&=33,$.%.3($)-/))/0$%(.%,/.2,3%3,&,/4,3"%%CD5'(/$%20+%.2,),%&0$6'/&.%

-(5)%-/?2.%B,%&3,(.,1"%%>$1,3%+2(.%&/3&=-).($&,)%+0='1%.2,%-,&2($/)-%

6(/'%.0%+038%()%/$.,$1,1I%

%

4. Ethernets use Manchester encoding.  Why does this allow for collisions to be 

detected soon after they occur, without waiting for the CRC to be computed at 

the end of the packet? 
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